Multiplication et Division par 100 (H)

Trouvez chaque produit ou quotient.

1,334 - 100 = 1,2596 x 100 =
9,7 +100 = 9,8 X 100 =
8,5601 x 100 = 8,1 +100=

2,6 -100 = 1,7 X100 =
3,2658 + 100 = 9,1 +100=
3,781 +-100 = 6,264 X 100 =
7,493 =100 = 4,288 x 100 =
9,2754 x 100 = 7,5 +100 =

49 x 100 = 9,6303 X 100 =
9,1653 X 100 = 9,85 x 100 =
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Multiplication et Division par 100 (H) Solutions

Trouvez chaque produit ou quotient.

1,334 +-100=0,01334 1,2596 x 100 = 125,96
9,7+ 100 = 0,097 9,8 Xx 100 =980
8,5601 x 100 = 856,01 8,1+100=0,081

2,6 +100=0,026 1,7 x100=170
3,2658 +- 100 =0,032658 9,1 +100=0,091
3,781 +-100 =0,03781 6,264 X 100 = 626,4
7,493 =100 =0,07493 4,288 x 100 = 428,8
9,2754 x 100 = 927,54 7,5+ 100=0,075

49 x 100 =490 9,6303 X 100 =963,03
9,1653 X 100 =916,53 9,85 x 100 =985
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